Precalculus
3.4 HW Odd Answers

1.0 3. M 5. log, M +log, N 7. log, M’

9. 7 (Hint: Change-of-Base Formula)

11. False. The difference of two logs is equal to one log of the quotient of their arguments, not the
quotient of two logs. There should only be one log on the right side of the equation:

|n(x+3)_|n(2x):|n[X2Lx3j

13.71 15.7 17.2 19.3

21. a+b 23. 3a 25.2.771 27.0.431

29. 2+3log, x+log, y +4log, z 31 In(x)—x

33. log, x—3log, y 35. 9log, u+3log, v

37. %In(x—2)+%In(x+1)—§|n(x+4) 39. Ioge(x5y7)

41. log, x°? or Iogz(xzﬁ) 43. Iog{x—iJ
y
X+ 2 25x°
45, logl — 47. lo
g( x+1) ga(\/2x+3j
49, 5l.y = Cx%?+ Cx
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